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NCERT - NCERT MATHEMATICS(TELUGU)

STRAIGHT LINES

1. Find the slope of the lines :

Passing through the points (3, —2) and ( — 1, 4)

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7pBtCsIWnTA3

2. Find the slope of the lines :

Passing through the points (3, —2) and (7, — 2)

° Watch Video Solution

3. Find the slope of the lines :

Passing through the points (3, —2) and (3, 4)

o Watch Video Solution

4.Find the slope of the lines :

Making inclination of 60° with the positive direction of x- axis.

0 Watch Video Solution



https://dl.doubtnut.com/l/_tc4RjLRCodoq
https://dl.doubtnut.com/l/_J1ZaJGZSjTcJ
https://dl.doubtnut.com/l/_825TWZU5DyU5

s
5. If the angle between two lines is 1 and slope of one the

1
lines is 3 find the slope of the other line.

o Watch Video Solution

6. Line through the points (—2,6) and (4,8) s
perpendicular to the line through the points (8, 12) and (x, 24) .

Find the value of x.

° Watch Video Solution

7. Three points P(h, k), Q(z1,y;) and R(zs,Y5) lie on a

line. Show that (h — z1)(y2 — v1) = (k — y1) (22 — x1).

° Watch Video Solution



https://dl.doubtnut.com/l/_n5LZUxTignyv
https://dl.doubtnut.com/l/_w3twPYu9IdPi
https://dl.doubtnut.com/l/_Po9yCDsJqmf4

8.In fig 10.9 , time and distance graph of a linear motion is
given.

Two positions of time and distance are recorder as, when
T =0,D =2and whenT = 3, D = 8. Using the concept of
slope, find law of motion , i.e,, how distance depends upon

time.
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° Watch Video Solution



https://dl.doubtnut.com/l/_S6RnivDegYVc

9. Find the equations of the lines parallel to axes and passing

through ( — 2, 3).

° Watch Video Solution

10. Find the equation of the line through ( — 2, 3) with slope

—4.

o Watch Video Solution

1. Write the equation of the line through the points

(1, — 1) and (3,5).

0 Watch Video Solution



https://dl.doubtnut.com/l/_AIVDEkYEtX6M
https://dl.doubtnut.com/l/_ma2AI9Is32rr
https://dl.doubtnut.com/l/_dPSs24ITFWMw

12. Find the product of the following pairs?

722y, 1123

° Watch Video Solution

13. Find the product of the following pairs?

7a*bc?, 2a3b°

° Watch Video Solution

14. Find the equation of the line whose perpendicular distance
from the origin is 4 units and the angle which the normal

makes with positive direction of x - axis is 15° .

° Watch Video Solution



https://dl.doubtnut.com/l/_nKpbJtQPQJPU
https://dl.doubtnut.com/l/_7qw7ykm4hmzc
https://dl.doubtnut.com/l/_j5uLRrA6c9l0

15. The Fahrenheit remperature F and absolute temperature K
satisfy a linear equation. Given that K = 273 when F = 32
and that K =373 when F = 212.

Express K in terms of F and find the value of F,when K=0.

° Watch Video Solution

16. Equation of a line is 3z — 4y + 10 = 0. Find its (i) slope,

(i) x -and y - intercepts.

° Watch Video Solution

17. Reduce the equation /3z + y — 8 = 0 into normal form.

Find the values of p and w.

° Watch Video Solution



https://dl.doubtnut.com/l/_NMwVq5L6tjse
https://dl.doubtnut.com/l/_2RNjAPJ71Nez
https://dl.doubtnut.com/l/_6famkC2XuKye

18. Find angle between the lines

y— /3 —50 and /3y —z + 6 = 0.

° Watch Video Solution

19. Show that two lines
a1z +biy+c =0 and asx + byy + co = 0 where by, by # 0

are:

(i) Parallel if ﬂ:2, and (i) Perpendicular if
b by

aias + b1b2 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_6famkC2XuKye
https://dl.doubtnut.com/l/_EtfYrxaXyfWQ
https://dl.doubtnut.com/l/_ao3HMtwLsP4K

20. Find the equation of a line perpendicular to the line

z — 2y + 3 = 0 and passing through the point (1, — 2).

° Watch Video Solution

21. Find the distance of the point (3, —5) from the line

3z — dy — 26 = 0.

° Watch Video Solution

22. Find the distance between the parallel lines

3r —4y+7=0and3x —4y+5=0

0 Watch Video Solution



https://dl.doubtnut.com/l/_UEG1lhc06z4Q
https://dl.doubtnut.com/l/_RtUMhhQQ9E2y
https://dl.doubtnut.com/l/_TmYJW4giyckn

23. If the lines
2¢+y—3=0,52+ky—3=0 and 3z —y—2=0 are

concurrent , find the value of k.

° Watch Video Solution

24. Find the product of the following pairs?

122°y, 2131:2y2

° Watch Video Solution

25.Find the product of the following pairs?

7x2y?, bxdyz

° Watch Video Solution



https://dl.doubtnut.com/l/_eelbuRp25rsq
https://dl.doubtnut.com/l/_PudcX8qbBVow
https://dl.doubtnut.com/l/_lxHNtmXnThNi

26. Find the product of the following pairs?

8a2bc?, 10abc

° Watch Video Solution

27.Find the product of the following pairs?

11a2b, 3a’b?

o Watch Video Solution

28. Find the product of the following pairs?

4a2bc®, 10a*b

O Watch Video Solution



https://dl.doubtnut.com/l/_MayS2CBKhCo2
https://dl.doubtnut.com/l/_9LtwBwj5H6Bq
https://dl.doubtnut.com/l/_shZ91fvvyBSz

1. Find the product of the following pairs?

10p*q, 11pg®

° Watch Video Solution

2. Find the product of the following pairs?

9a2b, 2a°b®

° Watch Video Solution

3.Find the distance between P(z1,y;) and Q(xs, yo) when

: (i) PQ is parallel to the y-axis, (ii) PQ is parallel to the x-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_AaUvjXX6nTaD
https://dl.doubtnut.com/l/_IV8aBqMgChbj
https://dl.doubtnut.com/l/_P6oxcPnqavaN

4. Find a point on the x-axis, which is equidistant from the

points (7,6) and (3, 4).

O Watch Video Solution

5. Find the slope of a line, which passes through the origin,
and the mid-point of the line segment joining the points

P(0, —4) and B (8,0).

° Watch Video Solution

6. Without using the Pythagoras theorem, show that the
points (4,4), (3,5) and ( — 1, — 1) are the vertices of a right

angled triangle.



https://dl.doubtnut.com/l/_P6oxcPnqavaN
https://dl.doubtnut.com/l/_yY4JjGLGi7Um
https://dl.doubtnut.com/l/_g8pXuNCweaUx
https://dl.doubtnut.com/l/_jJ5LkovgH7FF

| Y Watch Video Solution

7.Find the product of the following pairs?

7$3y2, 9(174y2

o Watch Video Solution

8.Find the value of x for which the points (z, — 1) (2,1) and (4,

5) are collinear.

0 Watch Video Solution

9. Without wusing distance formula, show that points
(-2, —1),(4,0),(3,3) and ( — 3,2) are the vertices of a

parallelogram.



https://dl.doubtnut.com/l/_jJ5LkovgH7FF
https://dl.doubtnut.com/l/_OTFm4QGaOXLS
https://dl.doubtnut.com/l/_rEQU63p7g1uH
https://dl.doubtnut.com/l/_DKiGoLOuwRm0

o Watch Video Solution

10.. Find the angle between the x-axis and the line joining the

points (3, —1) and (4, — 2).

O Watch Video Solution

11. Find the product of the following pairs?

9p*qr?, 3pq’*

° Watch Video Solution

12. A line passes through (z1,y;) and (h, k) . If slope of the

line is m, show that k — y; = m(h — z,).

° Watch Video Solution



https://dl.doubtnut.com/l/_DKiGoLOuwRm0
https://dl.doubtnut.com/l/_BSyN7DSEDFHZ
https://dl.doubtnut.com/l/_eqmhs3r1CKj6
https://dl.doubtnut.com/l/_6EtrIXKgwblo

13. If three points (h, 0),(a, b) and (0, k) lie on a line, show that

2 =1,

a
h k

o Watch Video Solution

14. Consider the following population and year graph (Fig

10.10), find the slope of the line AB and using it, find what will

be the population in the year 20107
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| ° Watch Video Solution


https://dl.doubtnut.com/l/_6EtrIXKgwblo
https://dl.doubtnut.com/l/_WVLsNBS1f4hg
https://dl.doubtnut.com/l/_qBfQ1MTQGIwR

1. Write the equations for the x-and y-axes.

° Watch Video Solution

1
2. Passing through the point ( — 4, 3) with slope 3

° Watch Video Solution

3. Passing through (0, 0) with slope m.

° Watch Video Solution



https://dl.doubtnut.com/l/_qBfQ1MTQGIwR
https://dl.doubtnut.com/l/_4zTyJPPhDXjD
https://dl.doubtnut.com/l/_NknnqpbnWjjV
https://dl.doubtnut.com/l/_WWcFkuxaIXgS
https://dl.doubtnut.com/l/_x0HQgsHNAbgu

4. Find the product of the following pairs?

622, 5y>

o Watch Video Solution

5. Intersecting the x-axis at a distance of 3 units to the left of

origin with slope — 2.

O Watch Video Solution

6. Find the product of the following pairs?

1123y, 11y%2

° Watch Video Solution



https://dl.doubtnut.com/l/_x0HQgsHNAbgu
https://dl.doubtnut.com/l/_X0hbyhSfOhGK
https://dl.doubtnut.com/l/_qsy0NdSD1qm1

7. Passing through the points ( — 1,1) and (2, — 4).

0 Watch Video Solution

8. Perpendicular distance from the origin is 5 units and the

angle made by the perpendicular with the positive x-axis is 30°

o Watch Video Solution

9. Write the following in the standard notation

100 x24+10x9+1

0 Watch Video Solution



https://dl.doubtnut.com/l/_uyhaPe64vGPz
https://dl.doubtnut.com/l/_WZugCiRt4ODz
https://dl.doubtnut.com/l/_cNAxYW3JR2UC

10. Find the equation of the line passing through ( — 3, 5) and
perpendicular to the line through the points

(2,5) and (—3,6).

° Watch Video Solution

11. Write the following in the standard notation

100 x 1+10x 2+ 3

° Watch Video Solution

12. Find the equation of a line that cuts off equal intercepts on

the coordinate axes and passes through the point (2,3).

° Watch Video Solution



https://dl.doubtnut.com/l/_cjSCUF9PvTY3
https://dl.doubtnut.com/l/_OB4YznOQoFXc
https://dl.doubtnut.com/l/_3gAJrEZariaV

13. Write the following in the standard notation

100 x 2+10x 3+ 4

° Watch Video Solution

14. Write the following in the standard notation

100 x 2+ 10 x 5+ 6

o Watch Video Solution

15. The perpendicular from the origin to a line meets it at the

point ( — 2, 9) find the equation of the line.

0 Watch Video Solution



https://dl.doubtnut.com/l/_mo5R4XBXGRmn
https://dl.doubtnut.com/l/_k4nLiPlfhlvU
https://dl.doubtnut.com/l/_GedMf4YW9byT

16. Write the following in the standard notation

1000 x 2 4100 x 3 + 10 x 1 4 2

° Watch Video Solution

17. Write the following in the standard notation

100 x 6 + 10 x 4 + 2

o Watch Video Solution

18. Write the following in the standard notation

100 x 4 +10 x 2+ 8

0 Watch Video Solution



https://dl.doubtnut.com/l/_cPuVRlDnxB6y
https://dl.doubtnut.com/l/_TxkHVb72T0HW
https://dl.doubtnut.com/l/_q8RLjCRoSmKK

19. Write the following in the standard notation

100 x 9+10x 7+ 3

° Watch Video Solution

20. By using the concept of equation of a line, prove that the

three points (3,0), ( — 2, —2) and (8, 2) are collinear.

o Watch Video Solution

1. Write the following in the standard notation

100 x 6 +10 x5+ 3

| o Watch Video Solution


https://dl.doubtnut.com/l/_iPHrsOuPLQKE
https://dl.doubtnut.com/l/_wQc6wpfpH5gS
https://dl.doubtnut.com/l/_aZdNMi2svLVZ

2. Write the following in the standard notation

100 x 5+ 10 x 4 + 2

° Watch Video Solution

3. Write the following in the standard notation

100 x 9+10x 2+ 7

° Watch Video Solution

4. Find the distance of the point ( —1,1) from the line

12(z 4+ 6) = 5(y — 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_aZdNMi2svLVZ
https://dl.doubtnut.com/l/_3owKGwQokAXd
https://dl.doubtnut.com/l/_ghhHREjoaG0L
https://dl.doubtnut.com/l/_MlzseSRJF46s

5. Find the points on the x-axis, whose distances from the line

% + % = 1 are 4 units.

° Watch Video Solution

6. Write the following in the standard notation

100 x 6 +10x2+9

o Watch Video Solution

7. Find equation of the line parallel to the line

3z — 4y + 2 = 0 and passing through the point ( — 2, 3).

0 Watch Video Solution



https://dl.doubtnut.com/l/_6rfZ7etZ7nvK
https://dl.doubtnut.com/l/_g8opnEnER4XM
https://dl.doubtnut.com/l/_ARfPzy44BTDt

8. Find equation of the line perpendicular to the line

x — Ty + 5 = Oand having x intercept 3.

° Watch Video Solution

9. Find angles between the lines

V3rz+y=1 and z+ 3y =1

o Watch Video Solution

10. Write the following in the standard notation

100 x 6 +10x5+1

0 Watch Video Solution



https://dl.doubtnut.com/l/_VmWMWpo3W1SK
https://dl.doubtnut.com/l/_7LxPhQGaEyrF
https://dl.doubtnut.com/l/_OQcnnGoR6bIt

11. Write the following in the standard notation

1000 x 1 +100 x 2+10x 3+ 4

° Watch Video Solution

12. Write the following in the standard notation

100 x 9+ 10 x 8 + 7

o Watch Video Solution

13. Write the following in the standard notation

100 x 4 +10x 2 +1

° Watch Video Solution



https://dl.doubtnut.com/l/_ah0LoDVS2Koi
https://dl.doubtnut.com/l/_4rHQA6yJ3DZW
https://dl.doubtnut.com/l/_gosIbtOSJaUt

14. Write the following in the standard notation

100 x 3+10x 4+ 6

° Watch Video Solution

15. Write the following in the standard notation

100 x 7+ 10 x 3 + 8

o Watch Video Solution

16. Write the following in the standard notation

100 x 9+10x9+1

O Watch Video Solution



https://dl.doubtnut.com/l/_2ecMoyeOvt35
https://dl.doubtnut.com/l/_oZPcd8ChGnMR
https://dl.doubtnut.com/l/_mHiwUbuEPnfx

17. Write the following in the standard notation

100 x 8 +10 x 8 + 8

° Watch Video Solution

18. Write the place of numbers underlined?

45618

° Watch Video Solution

Miscellaneous Exercise On Chapter 10

1. Write the place of numbers underlined?

12372

| ° Watch Video Solution


https://dl.doubtnut.com/l/_PUO0Ifro2aRd
https://dl.doubtnut.com/l/_xZWnMRko48V8
https://dl.doubtnut.com/l/_CmOrTxMUvacu

2. Write the place of numbers underlined?

22511

° Watch Video Solution

3. Write the place of numbers underlined?

91623

° Watch Video Solution

4. Write the place of numbers underlined?

72876

° Watch Video Solution



https://dl.doubtnut.com/l/_CmOrTxMUvacu
https://dl.doubtnut.com/l/_FCkmAKXtIA6Y
https://dl.doubtnut.com/l/_vMjTDaCbpIcg
https://dl.doubtnut.com/l/_2fxg3kKhgzKZ

5. Write the place of numbers underlined?

10925

° Watch Video Solution

6. Write the place of numbers underlined?

23971

° Watch Video Solution

7. Write the place of numbers underlined?

32621

O Watch Video Solution



https://dl.doubtnut.com/l/_dEuieLJlBgST
https://dl.doubtnut.com/l/_IrtYEuPnMHbs
https://dl.doubtnut.com/l/_OsAZbDMtH28a

8. Write the place of numbers underlined?

56843

° Watch Video Solution

9. Write the place of numbers underlined?

972687

° Watch Video Solution

10. Find the product of the following

11ab®, 9a*

° Watch Video Solution



https://dl.doubtnut.com/l/_GqvvecTCrIZb
https://dl.doubtnut.com/l/_Ah6O4AHA4iRq
https://dl.doubtnut.com/l/_GejDLiQGomcr

11. Find the product of the following

9p?, 2¢°

° Watch Video Solution

12. Find the product of the following

5a3b, 2b3¢c

° Watch Video Solution

13. Find the product of the following

622y, 21xy>

O Watch Video Solution



https://dl.doubtnut.com/l/_bo6oxAKnVjIH
https://dl.doubtnut.com/l/_yKiRyZMhKELs
https://dl.doubtnut.com/l/_KU3rQun3ibGX

14. Find the product of the following

12w2yz2, 5>

° Watch Video Solution

15. Find the product of the following

5a2b?, 8a®

° Watch Video Solution

16. Find the product of the following

6x2y, 6>

O Watch Video Solution



https://dl.doubtnut.com/l/_hOYPZI17EUBT
https://dl.doubtnut.com/l/_TfLGoqhqkjum
https://dl.doubtnut.com/l/_mQDjSjIueJ6B

17. Find the product of the following

2p°q, Tpg*

° Watch Video Solution

18. Find the product of the following

13p*qr, 2pq°

° Watch Video Solution

19. Find the product of the following

5a3b, Tab?

° Watch Video Solution



https://dl.doubtnut.com/l/_C0YqyXzlMj5N
https://dl.doubtnut.com/l/_VXYFgo3uidFh
https://dl.doubtnut.com/l/_3qNgCeW7rESJ

20. Find the product of the following pairs

11p*gr, 6p*

° Watch Video Solution

21. Find the product of the following pairs

7ab’, 10a?, 26>

° Watch Video Solution

22.Find the product of the following pairs

1722y, 2y°

° Watch Video Solution



https://dl.doubtnut.com/l/_u1FbtAgOKrEv
https://dl.doubtnut.com/l/_UFPaYUuWpAca
https://dl.doubtnut.com/l/_Ds31DWOnTiI8

23.Find the product of the following pairs

322, 5y2, 422

° Watch Video Solution

24.Find the product of the following pairs

3a?b, 6ab’c?

° Watch Video Solution



https://dl.doubtnut.com/l/_PLrrLv6WCaZi
https://dl.doubtnut.com/l/_YFLc4jvuJrdn

